A,

, Mo rong da thue

Tén:__ Ngaythang:_ Piém:__
5x— (6 — 3x)(6x + 3)(3x — 6) (4x = 3)(* —x+ 5)+ (4x + 6)(3x + 1)
(637 — 6x+5)3x+4)— 2 x 2+ 4 (3x — 3)(2x+ 6)(5x — 2)
(%= 6x—2)(x+6)—5x2x+ 1 (5x + 2)(3x— 6)(6x + 1)
(dx — 3)(2x° +x+ 1)+ (4x — 2)(5x + 4) (2% + 6)(4x+ 1) — 3¢ + 6x— 3
(3x® + 2x+4)(dx+ 6)— 1 x 3x+ 6 6x — (5 3x)(x + 3)(5x — 1)
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B0

Mo rong da thue

Tén:

S5x— (6 —3x)(6x+ 3)(3x— 6)
54x° — 189x% + 113x + 108

(6x> — 6x+5)(3x+4)—2 x 2x+ 4
18%° + 66 — 13x + 24

(¢ = 6x—2)(x+ 6)— 5 x 2x+ 1
X —48x— 11

(4x— 3)( 2% +x+ 1)+ (4x — 2)(5x + 4)
8 + 18x% + 7x— 11

(3% + 2x+4)(dx+ 6)— 1 x3x+ 6
1253 + 26x% +25x + 30

Ngay thang: Diém:

(4x— 3)(0% —x+ 5)+ (4x + 6)(3x+ 1)
43 + 5% +45x— 9

(3x — 3)(2x + 6)(5x — 2)
30x° + 48x% — 114x + 36

(5x+2)(3x—6)(6x+ 1)
90x> — 129x* — 96x — 12

(2% + 6)(4x+ 1) — 3% +6x— 3
8x° — x* +30x + 3

6x— (5—3x)(x+ 3)(5x—1)
15x° + 175> = 73x+ 15
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